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ClassNO: oot DA
FIRST YEAR HIGHER SECONDARY
SECOND TERMINAL EVALUATION : DECEMBER-2018
Part-111

ECONOMICS
Maximum : 80 Scores

Time : 2% Hours
Cool-off Time : 15 Minutes

//_ﬂfm.’ structions to Candidates: \

« There is a "‘Cool off time’ of 15 minutes in addition to the writing time.

Use the *Cool off time’ to get familiar with questions and to plan your answers.

+  Read questions carefully before answering.

«  Read the instructions carefully. :

+ Calculations, figures and graphs should be shown in the answer sheet itself.

+ Malavalam version of the questions is also provided.

+  Give equations wherever necessary.

«  Elecironic devices except non programmable caleulators are not allowed in the Examination Hall.
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Questions from 1-5. Attend all questions. Each carries 1 score. (5x1=5)

! ool 5 cuen age)o E2I0R)EMRBHNL DEDOODS YD) 1.

1.

Laa

“Sarvekshana’ is the publication of:

a) CS0 “'b) RGI
¢) NSSO d) DGCIS
Tudeclestem agma ageiad wimnlafecsmaser -
ag)} ol epi'e amfl) =pd & o)
M) oyt agymy agyms’ & ) ad £ md eag) agny
Indian railway was started in:
a) 1950 : : b) 1850
¢) 1869 ~d) 1907
gyt soeiden apoodlam
ng)) 1950 enll) 1850
mil} 1869 adl):  1g07
The tax imposed on imported goods is :
a) Quota b}  Import licensing
c) Tarlﬂ ' d)  None
@omammﬂ £12JQ MM gm‘ﬁmmm@mammﬁ 21BN iles yeof]
ag)l dhl0g oll)  posead eeeirdm
mil}) @odlan b afly  paewsomagy
Who introduced “Jail cost of Living Index’ of poverty?
a) P C Mahalanobis by AKSen
c) RCDesai - d) Dadabhai Naoroji
adleyoled * 2ol Halveyans (ngemIsso’ @clag@lajmod 2
ag)) all mil aaneiemoen o )  ag) o eouid
mil) @ed ol ecwaw al)  eossecw moseoos
Q1=5,Q3 =10. The value of inter quartile range is; -
a) .15 b5
gl o nd d) 1.2
Q1 =5, Q 3 = 10 ag@Id i Epdeaga eosml agym. 7
ag)). 15 enll) 5

al) 2 : afly 142
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6.

Maich the following / 62Ifjon S| G2iBe 10, l (4x1=4)
BF B ' c

a) | NABARD SD 2005

b) | MNREG Act Newspapers / cudmmaom ali@e | Dispersion / Luosﬂr'bg;gmo

¢) | Secondary data/ | Rural eredis adilem uo@in MagazMesfowm.ﬂm&;e;o%

Al amme
d | CV Employment / smodia 1982
ik 3 _
Questions from 7-12, Attend all questions. Each carries 2 score. (6%2=12)

T mymmd 12 cusm IR0 BoI0B)TEdan 10 DEHOEIDP YW

Differentiate human capital and human development,

@OMyasll> mpeILMALE 2oMgatles allsmumaige ai SOV IS T 4o,

Define Statistics

fResupaamm mdase loee

4)  Singularsense: ... ...............
og;aﬂ:ﬂ_lmm- Mido: I

b)  Pluralsense:. .. .
SLaOIOIRIT MOde: ------

Which is more serious. sampling or non sampling errors? Why?

ruamislogs allvaiisaoesmo MSTIEl 0 snmae alleaijsaszems W0 @ne 7

“Indiais a good destination for outsoureing”. Do you agree? Justify.

U aday alyoo woemellmies any Mg |alecwaren ewoglenimmyecus 7

M 400N Bt 56) .
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1. Briefly explain the occupational structure in British India,
Eliglosl snomyeiess amodld aaism 2loyesl] allcudlens,.
12. Complete the table

al5lan RO wose ya,

Bardiagram Histogram

eruad awwime TDQWMIEOEo

...........................................

Questions I‘mn; 13-20. Attend any seven questions. Each carries 3 score. (7x3=21)
13 oymad 20 cusn G2l j@sgldd mlmmye 7 G206 SRS HEMOODYSYm ).
13. Three types of classification of data are given. Identify them.
AOMEBEYOS MIMY Bre UdlBosmo ®deeim,. moeo rnﬂrélgo’l@ye;.
4 India’s population from 1921-201]
1921 - 2011 ueooyas D JRISS FNTUos)
b)  Unemployment rates in different states of India.
pmyeles allalw Toqunamemsloa amodielipion moss’ -
¢). Classification of students as boys and girls in vour class room.

mlemayes @onilesr ala OO 68 BRerDen <l Sl Slaanamy moo
2405 oqu J 8 4 43 3

wilalaend
I4. Mention the main features of IPR - 1956.
IPR 1856 acp P IWIMeN5 MO lsraHmEwR 26l E906M 06 ).
I5.  Examine the performance of Indian agriculture under British rule.

Enlilest” soomylieer @ofase COBLRIWIOS (alemmanid Il @eoullwiee 6.
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l6.

19,

Statisties are widely used in the formulation of plans and policies of government. Explain
with examples,

widsoonlon cavmlegie mwsmelo ejallamalenyaom  quoglaylem”
BlewOoUilEanymy. §RE00em madlme lcudles s,

Recently. the people of Kerala are alarmi ng for organic farming. Do you agree? Justify,

FSLOm SHielamow] emrngumlos zmmard eomo & jadflanow] ajoais)
iSleenoendldeoym,. ewoagenimiens 7 myolanalse @,

Complete the chart.
2185 alydarlle e .

Infrastructure EpSimnom muodsoymBE0d

"
L]

. 2 ?

"
"
~

The flood in Kerala 2018 highly affected the people of Chengannur taluk. The revenue
depariment of kerala decided to conduct a statistical survey related to this disaster in
Chengannur,
<018 98l 0088690800 BRI o2ieBMyd moalselnel gmaBag monnow
fwowlay). ealemanyalen v cRmeam i0lal” any mdeq, msamiaiod
SEASETINR OMIMY Udal tlegaoniay,
&) Identify the enumerator and respondent in this survey.

£ mdselee pmysengesw)o mmﬁlﬁiﬁmm_ﬂem@&o il gyl
b)  Which is the method used for the survey? Why? :

muder) msemynusad alemd agel aodwo alewoullEnio ? ag)mmiedso6ms 7
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20.

21.

22,

25\

Differentiate the formal and informal workers.
8%uJainals  amovlesdleeawie - @emualalonls - emovieoslsmeawio
OB OIS SO .
Attend questions from 21-24, Answer any three questions. Fach carries 4 scores.

: (3x4=12)
21 aymad 24 Ao eadsamald mliimie 3 82100 ARG HEMOODPIMm)E:.
8oeRoiimye 4 Mize:0h '
Describe the main sources of human capital.
DM a) -mémwmmsﬂarﬁ. [WOMmaLs GMOMEEHeE QllEBIEE w:.
Draw scatter diagrams representing different types of correlation.
aflaflw mee Muad UIWERS S0amienim MiIgd W CUIOWEE i@,

Examine the role of land reforms in the promotion of Indian argriculture after

‘independence.

D@ @tdatio IR & jasfliens allemmaniad sjoidagoemaniad e
el dlEUpouficies jos.

Estimate first quartile and third quartile for the data

Income (Rs.) : 125, 150, 100, 200, 350, 175.

. B(M2o I@BLOMHCLe BMIe olEBO&AILe 08T .

UBY@IMe (MLal) 1 125, 150, 100, 200, 350, 175
Questions from 25-27. Attend any two questions. Each carries 5 scores.  (2%5=10)

25 mymad 27 rumm_{xm'ae yemaglad ailrmyo 2 6203 6IR0RES QEMONMPLME:. 5 MiEHID
rfime -

Rural diversification plays a vital role in rural development. Describe.
wodlem allsmvmaslad wodlem secalwynimaatem@mmilmies ol Alenmoes .

Draw ogives and find median

82l 0b (UL MOWIE0 SO k!

Wages 50-100 1 100-150 | 150-200] 200-250 | 230-300
BOU@IMo

No. of workers 15 38 6 17 33
HOoFlena 8165

ag)§he
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28.

India sovernment takes three approaches to tackle the problem of poverty in our nation.

GotlE)e DEPDISHYUIM @MY (wdMegs Mdlamemd gaany wuabaadg
rofid@laly Uiy, .

a)  What are the three approaches?

a@emepacem @y azmy rudlemessd ?

b)  Explain any two of them.

moaid wesnegpo lloudleays.

Questions from 28-30. Attend any two questions. Fach carries 8 scores.

28 gymad 30 cuen 8o yERsldd mimis 2 G2l0EIBURbES) SETMOODY LD

Why do we need economic reforms in 19917 Elucidate.

reomUTT@ aldlatig@eme 1991 @ @D DIROMONOGHIENE ? (LIUBADOEE L.

The scores attained by 35 students in a class room test are given below.

an1 00 Olo esmildd 35 aflepdadléad emslw U0 Ml moay
4 &HIE é e d I3

8IS ATHIAl SO LN,

35,40, 12, 8,7, 25,35.60,75,71,45.43, 39, 24, 69. 51. 50, 16, 41, 72, 35, 38, 39, 40,

25, 15, 11,9, 16, 48, 52,63, 71,71, 33.

a) Complete the table using the data

e Srlewiwlal algld: aljdomlwodes e

Marks Tally bars Frequency | Midpoints  |Upper limits | Lower limits
mofee soell @yl | mw) miele |9l il
@ERSWIRo el @l addlud]
I = e TN, =T -
1020 | e el I - -
b)  Find mean and mode using the prepared table.
DOWYe, sUADIIEo ag)To ®QOOIBHW algle: alewouila] &06myd:.
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30.  The check the quality of two brands of light bulbs, their life burning hours was estimated
as under for 100 bulbs of each brand.
@eNsy MmMo eUMBENILSHBLIOS WM MlelUdde udlzniwleoimalnow) aseno

- meelele ealg 100 eudenysaies amlsaidess mpwnl Mmooy @amloleeom,.

Life (in hrs.) No. of bulbs Brand A No. of bulbs Brand B
gy (@emleanydlad) | sudensains aggpe SURELIBHBINS af)§ho
B0l ag) oo’ endl
0-50 15 2
30-100 20 8
100-150 ¥ 18 60
150-200 25 25
200-250 22 5
100 100

Which brand giveghigher life?
Him C.V,
agyul GOETIMIETT EDQIRT dhySimel 8 7

rugalm: - llalonem (IemoEse Sale@auilan .
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